H & 0l & AHS B Ml A

SA: OFS=XIDt
33 Ots=A &84
el 25 K& EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ots=X1 210,492,251 193,937,042 16,555,209
= 111,144,860
[ 5,031,8%
Jl 511,700
< 49,004,675
Al 44,799,120
Ors=X 58 208,812,129 192,357,602 16,454,527
= 110,710,125
s 4,562,456
Il 511,700
= 48,772,100
Al 44,255,748
25 X& 131,897,220 118,088,736 13,808,484
= 70,198,369
S 38,555,762
Al 23,143,089
222 J& 62,589,960 68,887,000 26,297,040
= 46,942,470
[ 6,259,000
Al 9,388,490
301 LEIEE S 62,589,960 68,887,000 6,297,040
= 46,942,470
s 6,259,000
Al 9,388,490
01 Al E2E AL S(FRNEXM) 62,589,960 68,887,000 6,297,040
ogxRot2=E= XA 62,589,960
= 46,942,470
= 6,259,000
Al 9,388,490
3MI~OAI el e BES&8 25,495,668 25,318,450 177,218
[ 25,495,668
301 LEtE N = 25,495,668 25,318,450 177,218
S 25,495,668
02 MBI 2EHSFHS(HAANS, XLHE) 25,495,668 0 25,495,668
O3MI~5Ml 2l tE B82 25,495,668
= 25,495,668
FRRE ANREEZ XN 3,390,720 3,510,000 119,280
< 1,017,216
Al 2,373,504
301 EtE NS 3,390,720 3,510,000 A119,280
= 1,017,216
Al 2,373,504
02 ARSI 2 X LGS (FHAAHS, XNLWE) 3,390,720 0 3,390,720
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FA OtSS A0
33 Ots=A &84
o9l =5 @ EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 241,000 200,000 41,000
= 120,500
== 60,250
Al 60,250
10 Al2ISTIAIEEE 22X 241,000 200,000 41,000
OARZIAISE 22 241,000
= 120,500
=S 60,250
Al 60,250
2250 (gotg) X 26,827,000 6,332,100 20,494,900
= 20,121,000
=S 3,353,000
Al 3,353,000
301 LEtE NS 26,827,000 6,332,100 20,494,900
= 20,121,000
= 3,353,000
Al 3,353,000
01 Al EE A S (2 RDEEA) 26,827,000 6,332,100 20,494,900
OR2=0(d0ot+=g) X 26,827,000
= 20,121,000
= 3,353,000
Al 3,353,000
SOISEXNHEH AE2S 592,000 569,000 23,000
307 @120l & 592,000 569,000 23,000
05 212+ =S 592,000 569,000 23,000
O=0IESEANEME /E2E 592,000
SOISSRNZHE 2S(HSAY) 40,000 40,000 0
< 20,000
Al 20,000
307 elztol & 40,000 40,000 0
= 20,000
Al 20,000
02 2B HAIHE & 40,000 40,000 0
OFO0ISEXNZHH F2UFA 40,000
= 20,000
Al 20,000
SOISEXNZHEH A 1,000,000 1,000,000
401 Al HIZ S 0HHI 900,000 900,000
01 AlZ8| 900,000 900,000
OF0ISSXHHE A 900,000
405 AHAHE S 100,000 100,000
01 AL =S F=H 100,000 100,000
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401 AIZHIY 20

SR
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401,500
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01 A<l
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=
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=
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685,746
228,582
228,582
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hoH
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SA: OFS=XIDt
M ots=X S
&t Ots=Al A& (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
oYLlts LY 566,400
| 396,480
T 84,960
Al 84,960
ogL=ot=a 6,000
| 4,200
T 900
Al 900
OXTHOts YL LEXIA 16,598
| 11,618
& 2,490
Al 2,490
OYd=HI|2t 2RXIAAS 2,114
| 1,480
& 317
Al 317
307 212+01 A 10,793 8,831 1,962
| 7,553
T 3,240
11 AR SXAMEES 10,793 8,831 1,962
Qor|g 10,793
J| 7,553
= 3,240
A2AHAOls RAEIIE 25| 24,000 0 24,000
= 16,800
& 2,400
Al 4,800
301 LPENZ 24,000 0 24,000
= 16,800
T 2,400
Al 4,800
01 A2 & X2EZ2(2REETA) 24,000 0 24,000
OUYTIAOLE FIEIIE 25| 24,000
2 16,800
= 2,400
Al 4,800
glA0ts XEEHEZ 90,000 105,000 215,000
& 22,500
Al 67,500
301 LPENZ 90,000 105,000 A 15,000
& 22,500
Al 67,500
2 AN 2EAHS(HUAHS, NSHA) 90,000 0 90,000




SA: OFS=XIDt
33 Ots=A &4
s Ots=A A3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE20ts NMEdE= 90,000
= 22,500
Al 67,500
225820t MHExE 1,056,000 519,080 536,920
= 844,800
= 63,360
Al 147,840
301 EtE N = 1,056,000 519,080 536,920
= 844,800
< 63,360
Al 147,840
01 AR 2EHSHS(RNEERTHE) 1,066,000 519,080 536,920
OESE=0ts NMel+g 1,056,000
= 844,800
== 63,360
Al 147,840
Ots=¢ XI& 40,047,675 39,316,000 731,675
= 32,038, 140
== 4,004,767
Al 4,004,768
301 22N = 40,047,675 39,316,000 731,675
= 32,038,140
= 4,004,767
Al 4,004,768
01 Al 2E A S(FRDEXMA) 40,047,675 39,316,000 731,675
oots+< X& 40,047,675
= 32,038,140
= 4,004,767
Al 4,004,768
OlsS 2L X2 AHIZ 1,631,312 1,530,062 101,250
= 1,141,918
= 244,697
Al 244,697
301 EtE2 N = 1,631,312 1,530,062 101,250
= 1,141,918
= 244,697
Al 244,697
01 Al EEABZ2(2DEEMR) 1,631,312 1,530,062 101,250
OOtsE 2 X A% 1,631,312
= 1,141,918
== 244,697
Al 244,697
ors=Xg2 N2 10,000 10,000 0
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o e

el

Ots=X11t
o= 58
ot==A X&

:

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

10,000

10,000

10,000
10,000

10,000

o

=

5,488,000
4,116,000
384,000
988,000

6,476,000

A988,000

hoH

=

5,488,000
4,116,000
384,000
988,000

6,476,000

983,000

Mo

=

5,488,000
5,488,000
4,116,000
384,000
988,000

6,476,000

A988,000

SRR

=

50,000
40,000
5,000
5,000

57,000

AT7,000

Mo

=

25,000
20,000
2,500
2,500

17,000

8,000

ONtEEE M2 X2 (AFH])

SRR

=

SRR

=

SRR

=

18,800
18,800
15,040
1,880
1,880
1,200
1,200
960
120
120
5,000
5,000
4,000
500
500

15,000

2,000

3,800

A800

5,000

SRR

25,000
20,000
2,500
2,500

40,000

15,000




SA: OFS=XIDt
33 Ots=A &4
s Ots=A A3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A EEATZ(2DEZME) 25,000 40,000 15,000
O0ls25 Mg¥ XA (AHl) 25,000
= 20,000
< 2,500
Al 2,500
FAHE OlSSEAHIA XIS 369,500 351,000 18,500
= 295,600
< 36,950
Al 36,950
201 2= 38,870 42,400 23,530
= 31,096
=S 3,887
Al 3,887
01 AtR2t2|HI 12,030 15,552 N3,522
OL=EAEENE 2 12,030
[ 9,624
= 1,203
Al 1,203
02 s3=gHl 26,840 26,848 A8
OL=EAEENE 2 26,840
[ 21,472
= 2,684
Al 2,684
202 04| 4,130 600 3,530
[ 3,304
= 413
Al 413
01 2L AL 4,130 600 3,530
OL-EAEENE 2 4,130
[ 3,304
= 413
Al 413
301 EtE NS 316,500 293,750 22,750
[ 253,200
= 31,650
Al 31,650
01 Al EE A ZS(2DEXMR) 19,430 19,770 A340
CEAEENE 2 19,430
= 15,544
& 1,943
Al 1,943
11 #AIMHIXIE S 20,060 12,290 7,770
OLEAEENE 2 20,060




2A: Ots=X1
M Ol==AX S
&t Ots=Al A& (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 16,048
T 2,006
Al 2,006
14 J|Et2 43 277,010 261,690 15,320
OSHAEIENEH 2Y 277,010
iy 221,608
T 27,701
Al 27,701
307 QIZ2t01 A 10,000 14,250 A4,250
iy 8,000
T 1,000
Al 1,000
01 2 2¥+=H| 10,000 14,250 24,250
OSEAEEWH 29 10,000
= 8,000
& 1,000
Al 1,000
CEHAEIE 2oy 222 29 6,000 6,000
201 B2 AY| 6,000 6,000
01 A=R2teld| 6,000 6,000
OB AEIE 2tdly S22 29 6,000
CEAEE SRHH AXs 20,130 20,460 A330
201 L2 AH| 20,130 20,460 A330
01 AtR2elt] 20,130 20,460 A330
OSEAEE MY Xz 20,130
MISXIAL =XIHE K& 107,100 0 107,100
307 212+01™ 107,100 0 107,100
11 AL =SXAMEES 107,100 107,100
OAt2I=XAL SXItE K& 107,100
Ots=XIAlE K& 24,104,883 21,474,241 2,630,647
= 1,648,460
= 4,226,856
| 90,369
T 5,124,101
Al 13,015,102
Ots=XAIE 29X 4,742,919 4,604,074 138,845
& 829,45
Al 3,913,463
307 QIZt01 A 4,742,919 4,604,074 138,845
= 829,456
Al 3,913,463
10 IS SXAEHE2ZHIER 4,742,919 4,604,074 138,845




SA: OFS=XIDt
33 Ots=A &
=el: Ol SSXAE X2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0IS=XAIE 2EX& 4,742,919
= 829,456
Al 3,913,463
OlSSAIAIE SALA S85E 303,120 229,320 73,800
=S 86,616
Al 216,504
307 21201 & 303,120 229,320 73,800
< 86,616
Al 216,504
10 Al2ISTIAIEEE 22X 303,120 229,320 73,800
OOIS=XAIE SAHA S84 303,120
& 86,616
Al 216,504
OISSXAE 250t X 39,155 39,375 2220
301 LEtE N = 39,185 39,375 A220
02 AR 2HALFS(HAAS, XLHE) 39,155 0 39,155
OO0IS=AIAE 250tS 24 14,700
OOtsSEXAE B50ts =s0{~HI(S5,1) 24,455
Ots=XAg JIsEZ 180,737 0 180,737
Jl 90,369
=S 45,184
Al 45,184
402 2I2FXH=201& 180,737 0 180,737
Jl 90,369
= 45,184
Al 45,184
02 QI XHZ AL E R (01X THE) 180,737 0 180,737
OO0IsS=AAE JIsEd 180,737
Il 90,369
= 45,184
Al 45,184
HAHZ0(OISSRIAIL) 570,000 470,000 100,000
= 513,000
= 39,900
Al 17,100
307 elztol & 570,000 470,000 100,000
= 513,000
< 39,900
Al 17,100
11 AMEISXAEEE 570,000 470,000 100,000
OMAZSH(OtS=EXIAIA) 570,000
= 513,000
== 39,900




2A:
X XH -
o e

=aak

Ots=X11t
o= 58
Ors=EXAIE X

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

| Al 17,100

A&0ts A& 140,028 150,267 A10,239
T 42,008
Al 98,020

307 QIZ2t01 A 140,028 150,267 210,239
= 42,008
Al 98,020

11 AR SXAMEER 140,028 150,267 210,239
OAIE0ts RI& 140,028
& 42,008
Al 98,020

2Slalls 15 29 2,340,570 2,052,000 283,570
= 888,708
& 666,531
Al 785,331

307 212+01™ 2,340,570 2,052,000 283,570
= 888,708
= 666,531
Al 785,331

10 AISIS XA EEE2IHIE X 2,340,570 2,052,000 283,570
OEsiaols 188 23 2,340,570
= 888,708
= 666,531
Al 785,331

SiIloots &H 22 247,982 240,354 7,628
= A,872
T 71,155
Al 81,955

307 QIZ2t01 A 247,982 240,354 7,628
= A,872
T 71,155
Al 81,955

10 Al = XA EEHE2FHIE X 247,982 240,354 7,628
ostiuldiors &d 29 247,982
= 9,872
& 71,155
Al 81,955

Ots=XAIE ZAHEXNSO0ts AHEXIR 24,800 23,650 1,150
= 17,360
& 3,720
Al 3,720

307 212+01™ 24,800 23,650 1,150
= 17,360




SA: OFS=XIDt
33 Ots=A &
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,720
Al 3,720
11 AMEISXAEEES 24,800 23,650 1,150
OOtS=NAIE ZAHE Xs0ts AEXE 24,800
= 17,360
< 3.720
Al 3,720
SSHEIIF(OEE) A HEE 28,800 23,720 5,080
= 8,640
Al 20,160
307 elztol & 28,800 23,720 5,080
= 8,640
Al 20,160
10 AlISAAZEE 22X 28,800 23,720 5,080
O3sdEIIE(OES) SAL HE=E 28,800
s 8,640
Al 20,160
SSUEIFE(OAES) S ORI22+E 39,600 32,400 7,200
& 11,880
Al 27,720
307 lztol & 39,600 32,400 7,200
= 11,880
Al 27,720
1 AMEISXAEEXS 39,600 32,400 7,200
O3SHEINE(OES) AL ORI2Z2
= 39,600
=S 11,880
Al 27,720
SSUEIE(OAES) SAR QI2Hl =IOt 32,174 32,174 0
< 9,652
Al 22,522
307 glztol & 32,174 32,174 0
= 9,652
Al 22,522
10 Al SXAAEEHE2EHI2x 32,174 32,174 0
OZ3SYEINF(OAES) SALL 1Al =0t
A& 32,174
=S 9,652
Al 22,522
OlSZAESAE 2EXE 597,756 601,446 23,690
< 298,878
Al 298,878
307 elztol & 597,756 601,446 23,690




SA: OFS=XIDt
33 Ots=A &
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 298,878
Al 298,878
10 Al SXAEEHE2EHI2x 597,756 601,446 A3,690
OO0lsLAESAIE 2HX= 597,756
= 298,878
Al 298,878
CHEINESdE ZXd] X 310,000 490,000 /180,000
[ 140,000
= 21,000
Al 149,000
401 Al HIZ S 0HbI 50,000 0 50,000
= 30,000
< 6,000
Al 14,000
01 Al&H| 50,000 0 50,000
otgMSsHE SC =83t EXI(0Z2AIE]
SEAHARLIEINE) 50,000
= 30,000
< 6,000
Al 14,000
402 2IF X201 & 260,000 490,000 A.230,000
= 110,000
[ 15,000
Al 135,000
02 QI X2 AL EE(OIHTHE) 260,000 490,000 /230,000
OUENSSHE SOC S8t ZXI(02AIE
SEAHARLIEIAE) 20,000
= 20,000
OotighssdE e X 240,000
s 90,000
s 15,000
Al 135,000
CletNssSdH 2148 X 1,594,935 1,005,020 589,915
= 751,514
=S 225,453
Al 617,968
307 21201 & 1,594,935 1,005,020 589,915
[ 751,514
= 225,453
Al 617,968
10 AlISAAZEE 22X 1,594,935 1,005,020 589,915
Oottglss4dH i8] X3 1,504,935
[ 751,514




SA: OFS=XIDt
33 Ots=A &
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 225,453
Al 617,968
CietssdE 22dl X2 252,000 220,000 32,000
= 126,000
< 37,800
Al 88,200
307 lztol & 252,000 220,000 32,000
= 126,000
== 37,800
Al 88,200
10 Al2ISTIAIEEE2HIE X 252,000 220,000 32,000
otigNss4dH 244l XA 252,000
= 126,000
=S 37,800
Al 88,200
Ciet=s8dE SAIZE HE X3 21,274 0 21,274
= 10,637
= 3,191
Al 7,446
307 @I2t01 & 21,274 0 21,274
[ 10,637
= 3,191
Al 7,446
10 Al SXAZEHE 22X 21,274 0 21,274
Oltah=s4dH 2SAI2Z A2 K& 21,274
[ 10,637
= 3,191
Al 7,446
CEIi=s4dE SAHL SE+E 54,720 48,960 5,760
= 10,368
Al 44,352
307 @I2t01 & 54,720 48,960 5,760
== 10,368
Al 44,352
10 Al2ISTIAIEEE 22X 54,720 48,960 5,760
OUISHNESSHE SAHL S8 54,720
< 10,368
Al 44,352
CIENESSHE SAHAE &8¢ 16,800 12,800 4,000
= 3,200
Al 13,600
307 gl2to| & 16,800 12,800 4,000
=S 3,200




2A:

E M

Ots=X11t
o= 58

l: OFS=XIAIE X (SH9 H2)
SA - ZE - BR(30) - HRA - B of v e HIDE2

Al 13,600

10 Al SXAZEE 22X 16,800 12,800 4,000
OUEN=SHE SAHA &€ 16,800
s 3,200
Al 13,600

A 0otsHE 249! X3 1,145,780 5,374,200 N4,228,420
= 572,890
=S 229,156
Al 343,734

307 @12t0| & 1,145,780 5,374,200 N4,228,420
[ 572,890
= 229,156
Al 343,734

11 MEISXAEE 1,145,780 5,374,200 N4,228,420
OXN<otsHH 224l N& 1,145,780
[ 572,890
= 229,156
Al 343,734

AS0tSHE 2lAH| X1 5,350,630 0 5,350,630
[ 2,625,815
= 1,050,326
Al 1,674,489

307 elztol & 5,350,630 0 5,350,630
= 2,625,815
< 1,050,326
Al 1,674,489

11 AMEISXAEEES 5,350,630 0 5,350,630
OXIG0ot=sHIE elddl X 5,350,630
= 2,625,815
< 1,050,326
Al 1,674,489

S48 X0tsHE = X 218,885 199,884 19,001
= 89,520
== 35,808
Al 93,557

307 212+01& 218,885 199,884 19,001
= 89,520
=S 35,808
Al 93,557

1 AMISXAIEE X 218,885 199,884 19,001
OSdE XgotsHde =it X& 218,885
= 89,520
= 35,808




2A:
PSR
ool

Ots=X11t
o= 58

Ot==XIAIE XA

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 93,557
AS0tSHE 24dHl =0t X 41,400 40,800 600
== 12,420
Al 28,980
307 212+01& 41,400 40,800 600
< 12,420
Al 28,980
11 Al SXIAIEE 41,400 40,800 600
OXSotsHE 28l =0t K& 41,400
= 12,420
Al 28,980
NSOtSHE SALA =& 320,960 319,400 1,560
=S 64,608
Al 256,352
307 21201 & 320,960 319,400 1,560
< 64,608
Al 256,352
10 AlRIS XA EEE 22X 320,960 319,400 1,560
OXSOtSHE BALL =2 320,960
== 64,608
Al 256,352
NSOtSHE SALA SR+ 282,600 278,100 4,500
307 el2to| & 282,600 278,100 4,500
10 AlISXAZEHE 22X 282,600 278,100 4,500
OXGOtSHE SAL SX==< 282,600
KGOotsHIE! SAHAL lA48] =K 196,477 196,477 0
< 58,845
Al 137,632
307 212+01& 196,477 196,477 0
< 58,845
Al 137,632
10 Al2IS XA EEE 22X 196,477 196,477 0
OXSOtSHIE! SAHAF 21248] F=IHKI& 196,477
= 58,845
Al 137,632
NS0tSHE S41H XA 4,145,663 4,027,600 118,063
s 955,000
Al 3,190,663
307 @I2t01 & 4,145,663 4,027,600 118,063
< 955,000
Al 3,190,663
11 AMEISXAEEES 4,145,663 4,027,600 118,063




2A:

X XH -
o=

Ots=X11t
o= 58

el OlssEXAE X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXSotsHE gtz 44 N 3,465,813
= 955,000
Al 2,510,813
OXS0tsHH EQ2Y 244l X 202,350
OXIS0otSHE gtz 2tAH XIS 477,500
K 0tsHE SZHE X 90,000 50,000 40,000
= 45,000
=S 18,000
Al 27,000
402 2I2F X201 & 90,000 50,000 40,000
= 45,000
= 18,000
Al 27,000
02 QI XHE AL E R (01X THE) 90,000 50,000 40,000
OXE0tsHE stZBIHEXIE 90,000
= 45,000
= 18,000
Al 27,000
NA0tsdEe 2| FIHAI& 639,739 527,520 112,219
=S 191,922
Al 447,817
307 21201 & 639,739 527,520 112,219
< 191,922
Al 447,817
11 AMEISXAEEES 639,739 527,520 112,219
OXSotsHEe T2 08| FIHKIR 639,739
= 191,922
Al 447,817
NSO0tSHE & - gl X2 13,600 13,600
307 el2to| & 13,600 13,600
10 AlISXAZEHE 22X 13,600 13,600
OXEotSHE & - Hedl X3 13,600
N 0tsdE WMHw-dl K& 20,400 13,600 6,800
307 @I2t01 & 20,400 13,600 6,800
10 Al2ISTIAEEE2HIEX 20,400 13,600 6.800
OXSEOotsSHE! wMHw-Hl X 20,400
XS 0otsdE SAOHE 8,000 8,000 0
307 glztol & 8,000 8,000
11 AMEISXAEEES 8,000 8,000
OXSotsHE =AU 8,000
XHotSHE JIS22 (S F0i0at) 93,384 140,500 NA7,116
= 93,384




2A:

X XH -
o=

Ots=X11t
o= 58

l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 93,384 140,500 A47,116
= 93,384
02 RIENEASEZ(0IETHR) 93,384 140,500 A47,116
OAXA0ISHEH JIs2EZ 10,000
< 10,000
OHdUsXNS0ISHE Js22 5,400
== 5,400
O AS0ISHH JIs22 8,514
= 8,514
OCLSAS0ISHH JIs22 9,470
= 9,470
OHIHEXS0ISHH JIsE2d 20,000
S 20,000
OFAA0ISHEH JIs22 20,000
[ 20,000
OHDIXSotsHH JISEH 20,000
== 20,000
ots2= XN 1,523,252 1,534,775 211,523
= 705,638
= 236,656
Al 580,958
HFAl OlSESHEZI |2 2 1,247,436 815,000 432,436
= 617,718
< 185,316
Al 444,402
307 elztol & 1,247,436 815,000 432,436
= 617,718
s 185,316
Al 444,402
10 Al2ISTIAEEE2HIEX 1,159,436 771,000 388,436
OXFAl OlsE23dE)2 2] 1,159,436
= 573,718
= 172,116
Al 413,602
11 AMRISXAEEES 88,000 44,000 44,000
O&=Al OlSESHEEI[2 ALiH] 88,000
= 44,000
= 13,200
Al 30,800
OISESEEIN2 SAEL XML& 64,016 29,807 34,209
[ 19,204
Al 44,812
307 lztol & 64,016 29,807 34,209




SA: OFS=XIDt
33: Ots=A &4
el Ol s2EE XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 19,204
Al 44,812
10 Al SXAEEHE2EHI2x 64,016 29,807 34,209
OOtSESHEI|& SALA MIHEHl XI& 64,016
= 19,204
Al 44,812
Otssith ol & Lisiots 2= 16,760 16,760 0
201 fet= 3| 11,760 11,760 0
01 AtR2te|H] 9,480 9,600 A120
oottt HY 82 & 29 9,480
2 35244l 2,280 2,160 120
OOtSSI ZAIES JUE 0182 2,280
301 EtE NS 5,000 5,000 0
02 A2 HGS(FHAAS, NLHA) 5,000 0 5,000
O=ttiulol Ots - JIE XISHl J S2X= 5,000
orssti aclad Xz8l Xd 19,200 29,000 29,800
= 5,760
Al 13,440
307 @120l & 19,200 29,000 29,800
== 5,760
Al 13,440
11 AMRISXAEEES 19,200 29,000 29,800
Ootsstth delatg xI=dl X 19,200
== 5,760
Al 13,440
LFEEIEIFTEIZ Y A K& 175,840 0 175,840
= 87,920
< 26,376
Al 61,544
307 elztol & 175,840 0 175,840
= 87,920
== 26,376
Al 61,544
11 AMRISXAEEES 175,840 0 175,840
OogREIIESE2 0l MY I 175,840
= 87,920
S 26,376
Al 61,544
#HY2AHHI(OtS= A 1,680,122 1,579,440 100,682
= 434,735
[ 469,440
= 232,575
Al 543,372




2A:
T ZH -
o e

=aak

e 2
J® 0X 0
M0 MO Jit
08 02 =
0k
—

I
x
o

¥

& - (3AH) - MRAY - BES

Ofl &F2H

MEE
Ofl &k2h

o
¥
Ho
02
o
5
il
Jo
>
=1

oW

=

1,610,858
434,735
469,440
232,575
474,108

1,579,440

o

=

919,472
434,735
173,895
310,842

979,920

A\60,448

hoH

=

708,676
335,787
134,316
238,573

821,263

AT112,587

Mo

708,676
708,676
335,787
134,316
238,573

821,263

A112,587

e}
(e}
=
[mn

T
M0

12,900

14,100

A1,200

R
M2 | e
O
ogr
Jr| o2

>
=d
H
=
0%
0y
=2

©
<
o

it
~
£l
>
=
RY

12,900
12,900

14,100

A 1,200

w
R
e
oy
|
oQ
oy
o

hoH

=

197,896
98,948
39,579
59,369

144,557

53,339

M BRA(RIAY) 22X BE2RE=3 S

OO0ts=XI WAL THA

hoH

=

197,896
197,8%
98,948
39,579
59,369

23,635

174,261

FHUNES OISSEAMEIA XIR(2121d])

SRR

=

260,800
208,640
26,080
26,080

256,000

4,800

101 &

NS
=

Mo

=

219,000
175,200
21,900
21,900

229,600

210,600

03

0K

X
T
=

o 10
J
ry
HU
>
H
4>

O
b
X
Ol
o Y
0
o 12
il
x
o
[>
pes}
{0
ro
e
o

Mo

219,000
219,000
175,200
21,900
21,900

229,600

210,600
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SN OFS=XID
B3 BHSAAH|(OIS=XD)

SoT oo

chelr Jl2ZHI(0ts=X11)

2 s IE]
SA - HY - S9I(3) - HIRAY - BES ofl & e
OR KNSRI 350,000& 122 4,200




